2610 HIETRAR—YRXRz HEHE

* M AR KB ERES 6. (1) AXE(F, TRTTEELET S,
% B HRET EDIEHmAR—VESE diEEHEdt (2 MR-BEZIZLDIERABIL 4R T ET B,
= 8 fM2E9A58~9A27H Q) BREIZKDO—IWRT—LFFEAL. AR TLUBIRELT S,
£ 5 FEAB : EERLOBEFHHKIFA-B @) 7TEIZETLTRADBSIE., BIEREXITL—IARETS,
A ABkis BATL—OARIT. ERX—2. Z 82, #EITIEET 5.
{FEAK : £AARAFRERNEHKME
*Lflﬁﬁiliﬁﬂ)?%
0 9/27 10
[ 1]
13:00
3 9/26 9/26
=A EA
@ @
2 9/21 0 0 9/21 2 0 9/21
=A EA EA
@
1 g/19 |t o[ 9/19 |2 2[ 9/19 |8 o[ 9/19 |10 4] 9/20 |t o[ 9/20 |0
=A =A =A EA =A =A
@ @ ® @ @
9/5 19/11 119/5 0 19/5Ji lg/ej 4‘ 9/6 |8 jjmzji jjszi
EA =A =B £B =B £B EA EA
@ @ @ @ @ @ @ @
|1 | 2{ |3| [4] [5{ |6] [7] 8| |8| (o] [} ([12f |13] (14| |15 |16] [17] |18 19| |20]
E X 4 it T Y R R 2 t L L R G #L R 4 N C fE
o A ,ﬁ g | ol |7 ol [1R El |R u Hl |
w18 w L IR L 1 e R SN R 1 IS -1 B PV O [ B
< = / A £ T N c
& | M k b i = W D &
2 =l (| |8 |¥ 2| e I o S| |&| |s| |°
| (3] |1 ol | R M| |#E 2 - Bk
A8 ¥ T A ) it 3 a S . B =1
| 4 PN I X 5 | L/ 4 4 . L 2 A ! c A =
z & %t S N L h z 3 B & x s M J S 3 o L A

AR © 8sKF45%

@10K:30%
®128515%
@14E500%

(%) mEeD¥oessN—2

rCr>»omon>»0 X zOoaxzw

mCcr o

9/20 |0
XA
@
ZJL
25] [26]
* it
izt
1 &
D m
a
-~ n
/\ d
a
El |-
* a
r
S s




